Year 4 Subtraction Word Problems

Remember

to use

Solve Answer heck

Read nderstand

1. A flower market has 4457 tulips. A florist buys 2135 tulips. How many tulips are lef+?

2. There are 6592 bottles of cola in the factory. A store buys 3758 to sell to its
customers. How many bottles remain in the factory?

3. Ashop has 376 pairs of socks. 87 pairs are white sport socks and 123 are white trainer
socks. How many other pairs are there?

4. There are 8415 pencils in the school store cupboard. 2175 are given out to key stage 2
and 3132 to key stage 1. How many are left in the store cupboard?

5. A sweet shop has 8591 boiled sweets in jars. One jar containing 2164 sweets and
another containing 1153 are sold. How many are left?

6.

Tony has £4.
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Chewing gum Chocolate bars Lollies
75p per packet S0p each J0p each

He buys a packet of chewing gum, a chocolate bar and 2 lollies.

How much change should he have?
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